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SENTEST lasruigsy 9,800,000 8,500,000| 1,300,000 | A2 b 01214 1,110,740,000| 1,238,720,000 127,980,000
Abgl el Arei gl 0|  10,000,000{  10,000,000| AF=H SEES 4,500,000 4,500,000 0
©x349  |2x329 1,287,680,000| 1,455,958,000| 168,278,000 | AL2H =gyl 98,000,000 103,500,000 5,500,000
sezae  |[sazZae 113,000,000{  94,000,000{ A19,000,000| M&EAH | A& 35,000,000|  55,000,000{ 20,000,000
B2 B3 30,000,000/ 10,000,000 420,000,000 At H Say| 182,380,000| 179,680,000 42,700,000
JEE! JEE 39, 188,534 0| 439,188,534 A2t Abeib 27,600,000| 17,600,000 410,000,000
el zael 21,781,466  20,542,000|  AT1,189,466| GiBIHI X JIEH |oIBIbl % JIEH 43,180,000 0| 43,180,000

Mg & 1,501,400,000 1,599,000,000{ 97,600,000 EEP 1,501,400,000| 1,599,000,000| 97,600,000
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